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DO NOW

In the accompanying diagram, AB is a diameter of
circle O and chord CD intersects diameter AB at E.

If mAD = 100 and mAC = 40, find m/DEB.

Mar 16-12:09 PM

Atangentis line that intersects the circle at onepoint

B m

Line m 1s a tangent
0
A
A secant is a line that intersects a circle at two points

P

PQS and PRT are secants
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Angles Formed Outside of Circle

intercepted arcs

Tangent and a Secant
m/ | = %(m//ﬁ\—é — mZ\—C)

4oy

Two Secants

m/2 = %(m,@ — mEE))

Two Tangents
m/3 = %(m/@ — m/@)

Measure of the angle is half the difference of the

Mar 18-10:11 AM

1) Find mzP if m87 = 105 and mOR = 35

p
o/ \r x = % (/o5-35D
x= = (70)
S T

oS

2) In the accompanying diagram of circle O, PCisa
tangent, PBA is a secant, mAB = 132, and

mCB = 46. Find m/P.

e =% (g2-40)
\ML-’F: ug')
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3) Find mz3 if mACB = 285

p8% UA3=/O5'

4) Tt msP = 40 and mOR = 86, find mST.

P
0 240 }“i (x—‘&‘u\)
0= x-RL
¥ Vo + §b
S > T H_o(p = Y

iW‘%\T =1\’ }

med= 5 (285-75)
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5) In the accompanying diagram, P_Q is tangent to
circle O at Q and PRT 1s a secant. If m/P = 56
and m'Q_f =192, find m@ﬁ.
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